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Equilibrium Lab Activity-Calculations
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Calculations Continued
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Calewlations

FinA [Fe SCN&j m Wells C-—f-L—OT
J

T o, [y

o mo\/L  Frefeee Samg
DYy 0.0010% _L =9.0007 2 [»

~ (o \
E3 0.000S8 molfy
P>~  9.0003

9oFind all [ Ts o wells
¢z PR+ s S Fescn

C3  0.0010 X A _ 50009

|\ 0.090| O.oo10 )
< 00001 |~ D.00DY + 0.00019
€ [0:03%1] 0.0001 50001
DY | RS'+ Sew = Fescn™”
o.o10 | 0.0lb 0.0010 o
0 .0007

—T13%s < [0.0007]|-D.00D7 + 0.0007

0.0\83| ».6002 0.0007

v |




March 17, 2021.notebook March 17, 2021

Finding a Pattern
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Mass Action Expression
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